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üc

ks
ei

te
an

R
üc
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lö

se
n,
y

-W
er

td
ur

ch
E

in
se

t-
ze

n
in

ei
ne

n
de

rb
ei

de
n

Te
rm

e.

L
82

St
ei

gu
ng

m
(1

na
ch

re
ch

ts
,
m

na
ch

ob
en

),
y

-A
ch

se
na

bs
ch

ni
tt
t.

y
=
−

3 2
x

+
4

ha
tS

te
ig

un
g
−

3 2
(f

al
le

nd
,

2
na

ch
re

ch
ts

,
3

na
ch

un
te

n)
-

6y

x
0

1
14J
J
J
J
J
J Jqq q q q

L
83

V
er

do
pp

el
t/v

er
-k

-f
ac

ht
m

an
di

e
ei

-
ne

G
rö
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ö
g
li
ch

e
n

E
rg

e
b
n
is

se

L
89

E
in

se
tz

ve
rf

ah
re

n:
E

in
e

G
le

ic
hu

ng
na

ch
ei

ne
r

V
ar

ia
bl

en
au

flö
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